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His T’rumoh is a valid T’rumoh = YN 1NN

Overview

The mwn cited in our X3 states that if a »721 separated 72170 from his produce it is
a valid 7m0 (and it is forbidden to o»1)." Moo reconciles our XM with a
seemingly contradictory Xna.

Mmoo anticipates a difficulty:
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And this which the &) states in 2’737 noo» in @''2 P99 and in the first P95 of

f1Y%0 Noon -
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That items which 221 sanctified (were w>Tp») there is no 7%%w»n 2vn, if one

derives benefit from them -
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And the X713 explains the reason (why there is no 72°¥1 by 0°121 *w7p), because we
derive 79°v» from 72190 with the MW 77013 of Xum X, and by 7%217n it is written
BRTW 932 (that only *"12 make 72170), so too by 72°¥» it must be a 7P by *"13, but not by 221

mooIn responds:
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Those n17nx are according to @'Y who argues here in the 820 of this 71w, and

his opinion is cited in the second 95 of PwY75P N20nN, however the o»51 maintain that
a 121 can be 70 wron.

Summary
There is a dispute between the 7127 and w"9 whether a 731 can be 72170 w9n (the

1127), or not (¥"M).

' See mnw 7"7 ",
% 79°yn is when one benefits (illegally) from 2°w7p; in which case if it was done 332 he needs to repay wp the
principal plus a fourth and is obligated to bring a nY2°»» owX j27p. However all this does not apply if a »21 was
v,
3 By 77°¥n the 7710 writes (in 10,77 87p°1) "2 733W2 A8 Sy Ym0 03 Wy, and by 7m0 it is written (in [1MR] RPN
0,20) Ko PHY IRWN R
* In 10,20 (MnX) X1p7 the 770 writes regarding 72170 that "3 3272 WK DX YR %32 *W7p NN 1990 &9). From that X723
it is evident that only °"12 can make 7m0 (but not 0°33), for that is how we derive that 0121 cannot make w7pH;
however in this 71wn it is clearly stated that the 72170 of a 721 is 7m1n!
> This can be found in 1v"» 3" Ny
% See “Thinking it over’.
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Thinking it over
What will the 7127 (who say that a >721 can be 770 w>791) maintain regarding

79y of 0”101 ’W7P,7 is there 79°v1 or not, since they cannot derive it from a1 n?®

7 See footnote # 6.
¥ See 2py> nxan.
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